N & 0l & AF & & A A
SN =RS
HH: 2Rs A
Sl FOUXX(2RS) (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ses 855,924 965,616 £109,692
SRS A 585,678 668, 136 782,458
ORI (2R S) 39,420 69,680 230,260
FOUTRHE 2 39,420 69,680 230,260
201 Lure ] 26,120 37,680 A11,560
03 A2 21,120 32,680 A11,560
ORYYHAALT 21,120 31,680 A10,560
Ogeis2 2eig 03 S 0 1,000 A1,000
301 Y HHI 3,300 32,000 18,700
EVCTREE 0 1,000 A1,000
OSeSY AN NRES AH242 0 1,000 £1,000
12 JIErR &2 3,300 31,000 A17,700
OFOURAAR BIOBH +5 4,500 9,000 A4,500
OFURAME TESAX 243 8,800 22,000 A13,200
FOIEEHL 505,483 557,681 A52,198
ALY 95,641 129,049 33,408
101 91214 bl 14,657 20,860 76,203
04 IIAHIZTSES 14,657 20,860 26,203
OMOITIH RS ALY 02 8.606 13,747 A5, 141
—FEEey A A5, 141 0 A5, 141
OMElSX gRexory 3,302 4,364 A1,062
—Fumey A A1,062 0 A1,062
201 22 bl 66.437 68,237 ~1,800
03 A2 | 0 1,800 A1,800
OOt 2 S =M= 424 0 1,800 A1,800
202 01t 40 25,200 725,160
01 =UHotbl 40 25,200 .25, 160
OLHHY SHALET 0ft| 40 19,200 A19, 160
OMBIZXYREE Ol 0 6,000 6,000
401 A1 2 S O 11,755 2,000 A245
01 Al&H| 11,756 12,000 ~245
OFA SHYL A 11,756 2,000 ~245
Fogsea 409,842 428,632 £18,790
301 YPrEEI 407,842 426,632 £18,790
05X - 0% - BIRESENS 406,610 422,400 A15,790
Osz4+y L s 406,610 422,400 A15,790
-s3+g 278,700 283,000 29,300
-s3a02 44,700 48,000 £3,300
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